Tell whether the following are Tor F. In the 2nd test, no justifications, but you lose 0.4 for each wrong answer, as much as you gain for each correct  answer => you should only answer if you’re fairly sure. 
1. When the risk premium of long term bonds is high, high risk-averse corporations do not issue such bonds.

2. When the risk premium of long term bonds is high, only high risk-averse banks do buy such bonds.
3. When the risk premium of long term bonds is low, many banks do buy such bonds.
4. When the risk premium of long term bonds is low, many risk-averse corporations do not issue such bonds.

5. If it is not effective, QE expands the quantity of money.
6. Even if it is not effect, QE expands the monetary base.

7. A high-inflation country which pegs its currency to the currency of a country with low inflation must then on take into account the existence of IFI when setting its interest rates.

8. Consider a country with fixed rates that over a few years has been funding its trade deficit with foreign currency reserves of its CB. The number of future years during which the country may keep on having deficits depends crucially on the amount of reserves of foreign currency held by its CB.

9. The fact that the reduction in inflation following the implementation of an exchange rate anchor takes a few years makes the slowdown in the growth of nominal wages and profits also occur over a period of a few years. This so being, this gradual slowdown cannot be responsible for the only gradual decline in inflation following the implementation of an exchange rate anchor.

10. If a massive sell-off of government bonds in the secondary market leads to a rise in their interest rates, it will not lead to an instantaneous increase in government interest payments. 

11. An increase in the budget deficit leads not only to a rise in public debt but to an acceleration the absolute increase of that debt.
12. Unusually high SP500’s prices compared with the average profits of the previous 10 years tend to lead to unusually low SP500’s prices compared with future profits over the next 10 years.

13. Depending on the circumstances, the Shiller CAPE500 may be a better or a worse measure of overvaluation/undervaluation of SP500 stocks than the simple P-to-E ratio.

14. Even if QE does not lower long-term rates, it may boost AD.

15. It is easier to evaluate whether the price of the SP500 differs from its fundamental value than to evaluate whether the prices of 100 randomly chosen stocks differ from their fundamental values.

16. The staff of experts of Central Banks can produce better estimates of the fundamental values of stocks of individual companies than even professional investors.

17. Consider a mutual fund which sells a share to an individual investor and uses the money thus obtained to make short-sales of stocks. The more these stocks fall, the more will the value of the share sold to the individual investor fall.
18. An increase in the budget deficit leads not only to a rise in public debt but to an acceleration the percent increase of that debt.

19. Massive sales of a stock drive its price down in the secondary market. Massive short-sales of that stock have the same effect.

20. When, as a result of massive sales of a bond, their prices fall in the secondary market, the coupon payment of that bond rises.

21. An exchange rate anchor tends to boost a country’s competitiveness.

22. An exchange rate anchor tends to boost a country’s employment.
23. Ceteris paribus, an Argentina’s budget deficit funded through the sales of TBs to the domestic banks increases the money stock of the country.

24. Ceteris paribus, an Argentina’s budget deficit funded through the sales of dollar-denominated TBs to foreign banks increases the money stock of the country.

25. Consider fixed exchange rates, and start from FE and a TB equilibrium. An argentine expansionary FP funded through the sales of dollar-denominated TBs to foreign banks will cause an increase in inflation next year.

26. Consider fixed exchange rates, and start from FE and a TB equilibrium. An expansionary FP funded through the sales of TBs to the domestic banks will cause an increase in inflation next year.

27. Ceteris paribus, an Argentina’s budget deficit funded through the sales of TBs to the domestic banks increases the monetary base of the country.

28. Ceteris paribus, an Argentina’s budget deficit funded through the sales of dollar-denominated TBs to foreign banks increases the monetary base of the country.

29. If the CB of a high-inflation country sets its interest rate above that of the CB of a low inflation country to which it pegs its currency, the high-inflation country’s treasury bills will be attractive enough to International Financial Investors.
30. The single objective of an exchange rate anchor is to reduce the inflation rate of the country that adopts it.

